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िवकास अÅययन: पåरचय और िसĦाÆत 

(Development Studies: Introduction and Theories) 

Certificate course in Development Studies 

Examination 2021(winter) 
TIME: 2 Hours           Max Marks: 100 

 

Note:  This paper is of (100) marks divided into two (02) 

Sections A and B. Attempt the questions contained in 

these sections according to the detailed instructions 

given therein. 

नोट :  यह ÿÔ नपý  (100) अंकŌ का है जो दो (02) खÁ डŌ, क तथा ख म¤ 

िवभािजत है। ÿÂ येक खÁ ड म¤ िदए गए िवÖ ततृ िनद¥शŌ के अनुसार 

ही ÿÔ नŌ को हल करना है।  

SECTION – A / खÁ ड -क   

(Long-answer - type questions)/ (दीघª उ°रीय ÿÔ न) 

Note:  Section ‘A’ contains Five (05) long-answer-type 

questions of (26) marks each. Learners are required to 

answer any two (02) questions only.     

    (2×26=52) 

नोट :  खÁ ड 'क' म¤ पॉच (05) दीघª उÂ तरŌ वाले ÿÔ न िदये गये ह§, ÿÂ येक 

ÿÔ न के िलए (26) अंक िनधाªåरत ह§ । िश±ािथªयŌ को इनम¤ से केवल 

दो  (02)ÿÔ नŌ के उÂ तर देने ह§ ।  

 

P.T.O. 
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1. Define economic development. Discuss the 

various measures of economic 

development. Which of these do you think 

is most suitable? And why? 

आिथªक िवकास को पåरभािषत कìिजए। आिथªक 

िवकास के िविभÆन मापŌ का िववचेना कìिजए। इनम¤ से 

आप िकसको सवाªिधक उपयĉु समझते ह§। और ³यŌ ? 

2. What are the main characteristics of an 

underdeveloped economy? What are the 

barriers to the development of these 

countries? 

अÐप िवकिसत अथªÓयवÖथा कì मु́ य िवशेषताएं ³या 

ह§? इन दशेŌ के िवकास म¤ ³या बाधाए ंह§? 

3. Discuss Schumpeter's theory of economic 

development in the context of economic 

development and point out its main 

drawbacks? 

आिथªक िवकास के सÆदभª म¤ शÌुपीटर के आिथªक 

िवकास िसĦांत कì िववचेना कìिजये तथा इसकì मु́ य 

किमयŌ को इिंगत कìिजए? 
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4. Critically explain the theory of Big push 

propounded by Rosenstein Rodan? 

रोजÆेÖटीन रोडान Ĭारा ÿितपािदत बड़े ध³के का 

िसĦाÆत कì आलोचनाÂमक Óया´या कìिजए? 

5. Briefly explain the theory of dual economy 

of Fei- Ranis? 

फाई तथा रेिनस के दोहरी अथªÓयवÖथा के िसĦांत कì 

सं±ेप म¤ Óया´या कìिजए। 
 

SECTION – B / खÁड – ख  

(Short – answer – type questions)/ लघु उ°रीय 

ÿĳ 

Note:  Section ‘B’ contains eight (08) short- answer 

type questions of (12) marks each. Learners are 

required to answer any Four (04) questions only.

      

    (4×12=48) 

नोट :  खÁ ड ‘ख’ म¤ आठ (08) लघु उÂ तरŌ वाले ÿÔ न िदये गये 

ह§, ÿÂ येक ÿÔ न के िलए (12) अंक िनधाªåरत ह§। 

िश±ािथªयŌ को इनम¤ से केवल चार (04) ÿÔ नŌ के उÂ तर 

देने ह§।  

 

P.T.O. 
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1. Explain the difference between economic 

development and economic growth. 

आिथªक िवकास और आिथªक िवकास म¤ अंतर ÖपĶ 

कìिजए। 

 

2. Discuss the factors affecting the economic 

growth of a country. 

िकसी दशे कì आिथªक विृĦ को ÿभािवत करने वाल े

तÂवŌ कì िववचेना कìिजए। 

3. Explain Rostow stages of economic growth 

in detail. 

रोÖटोव कì आिथªक संविृĦ कì अवÖथाओ ं कì 

Óया´या कìिजए। 

4. Explain the role of Social Overhead Capital 

(SOC) and Direct Productive Activities 

(DPA) in the concept of Unbalanced 

Growth theory. 

असंतुिलत िवकास िसĦांत कì अवधारणा म¤ 

सामािजक उपåरÓयय पूंजी एवं ÿÂय± उÂपादक 

िøयाओ ंकì भिूमका कì Óया´या कìिजए। 
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5. What do you understand by the Critical 

minimum effort by Harvey Leibenstein? 

Describe the 'Role of Public Sector' in 

making minimum effort strategy effective. 

हाव¥ लीिबÖटीन के आवÔयक Æयनूतम ÿयास से आप 

³या समझते ह?ै  Æयनूतम ÿयास रणनीित को ÿभावपणूª 

बनाने म¤ 'सावªजिनक ±ेý कì भिूमका' का वणªन 

कìिजए। 

6. What do you meant by ‘Technological 

Dualism’? What are the shortcomings of 

Technological Dualism? 

‘तकनीकì Ĭतैवाद’ से आप ³या समझते ह?ै तकनीक 

Ĭतैवाद कì किमया ं³या ह§? 

7. Explain the Underdevelopment Model of 

Gunnar Myrdal. 

गÆुनार िमडªल के अÐपिवकिसत मॉडल कì Óया´या 

कìिजए। 

 

 

 

P.T.O. 
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8. What does Arthur Lewis mean by unlimited 

supply of labor? Why has Arthur Lewis 

emphasized the importance of income 

transfer in favor of the capital class in this 

theory? 

®म कì असीिमत पूितª से आथªर लेिवस का ³या अथª 

ह?ै इस िसĦांत म¤ आथªर लेिवस ने पूंजी वगª के प± म¤ 

आय हÖतांतरण के महßव पर ³यŌ बल िदया ह?ै 
 
 

**************** 


